ST-313 RRB PO (PRE) 2020

Q-1 In the question below, the relationship between different elements is shown in the statements and these statements are followed by two

eng hin  conclusions. You have to find out which of the following conclusion is/are definitely true. Mark your answer accordingly-
3 frrreas &, 799 AT aeat F A= @y REraraarg AT 591 FI71 F a1 T FAowd AT TTR | sUT=HT T HTT FIAT
gt F e farfaa § @ - faeed At s78 a9 872 aegaamArsae g -

Statements:
V>Z>R>A>Q<M
Conclusions:

LA>C

I.C<A

ER G H
V>Z>R>A>Q<M
IBREAF

LA>C

I.C<A

01. If only conclusion I is true. 02. Ifonly conclusion IT is true.
TS e Aewd 19T g Tf% Faer w11 97 g

03. Ifeither conclusion I or I is true. 04. TIfneither conclusion I nor II is true.
iz a7 a7 e 137 11 7o 2 gz aar Ao [efira S naa 2
05. Ifboth conclusions I and II are true
T ey 1 37 1L 21 e 2
Solution for Question 1 Ans Key: 4

V>Z>R>A>Q<M

I. A>C (False/ 319q)
II. C < A (False/ 319<q)

Q-2 In the question below, the relationship between different elements is shown in the statements and these statements are followed by two
conclusions. You have to find out which of the following conclusion is/are definitely true. Mark your answer accordingly-
3 fewruas §, waa & fFfys acat F A= o fRErarar g AT F9=1 471 & a1 &F fAowd fETTw | srawy T8 777 FIAT
gt B A forfaa 7 & sraar fased Afaa €78 a3 82 gegac arar STt a2-

Statements:
Z=A>LLW>Q=A<T
Conclusions:

. T>Z

ILI>T

EREH
Z=A>LLW>Q=A<T
IRLEO P

I.T>Z

ILI>T

01. Ifonly conclusion I is true. 02. Ifonly conclusion II is true.

Tfz Fae w177 21 Tf Fae w1137 )

03. Ifeither conclusion I or II is true. 04. TIfneither conclusion I nor II is true.

Tt =7 v s 197 1 5o 21 i T A [T T2 7T 2

05. TIfboth conclusions I and II are true

i A 13T [ SHT 9T 8
Solution for Question 2 Ans Key: 1

eng hin

Z=Azl

W>Q=A<T

I.T>Z(True/ ™)
Il. 1> T (False/ 3I)

Q-3 In the question below, the relationship between different elements is shown in the statements and these statements are followed by two
eng hin  conclusions. You have to find out which of the following conclusion is/are definitely true. Mark your answer accordingly-

A frgro s &, w9 # fAfva gt § T gay fREmaraarE shTza FI7 FI91 F 12 ) fAewd fRTaw | srosy T 19 FLEAT



gt r fawferfra & & wra-ar feed fafira €& g 881 aagam oA I g -

Statements:
M>S=T,A<P=S<(C,C>Y
Conclusions:

LA>Y

IL.M>P

EREH
M>S=T,A<P=S<(C,C>Y
Aeae:

LA>Y

IL.LM>P

01. Ifonly conclusion L is true.

Tfa Fae w19 21

03. Ifeither conclusion I or II is true.

Tt 77 a1 Ao 137 1197 )

05. Ifboth conclusions I and II are true

i Ao [ 3T [ 9T a1 g

Solution for Question 3

eng hin

Q-4

M>S5=T
A<P=5<C>Y
I. A>Y (False/ 3qcY)
Il. M >P (True/ ™)

02.

04.

If only conclusion Il is true.

7f% Faer AR 1 @7 21

If neither conclusion I nor II is true.

iy T A [T T2 7T 2

Ans Key: 2

In the question below, the relationship between different elements is shown in the statements and these statements are followed by two
conclusions. You have to find out which of the following conclusion is/are definitely true. Mark your answer accordingly-

= fer oy &, 799 Ffra acat F A= @y REraraar g AT T 591 FI71 5 T a7 FAowd AT ATR | sra=T T8 I1T FIAT
gt fi e ferfaa & @ - fased At €78 939 §-2)1 Igam =T ST g #3-

Statements:
P<O0=Q,A=R>P<T
Conclusions:

LQ>P

ILP<A

Hq:
P<O0O=Q,A=R>P<T
IRLED

I.LQ>P

ILP<A

01. Ifonly conclusion I is true.
RICEEEREE R R

03. Ifeither conclusion I or IT is true.

RIERIKIA R R o]

05. Ifboth conclusions I and II are true

Tfe fAeh [ 37 [ <1 ae7 €

Solution for Question 4

eng hin

Q-5

eng hin

P<0=Q
A=Rz2P<T

.Q>P (True/ )
I.P <A (True/ )

02.

04.

If only conclusion I is true.

RIEEEEAR R R

If neither conclusion I nor I is true.

TfE 7 T [ [3f7 T & 1197 8l

Ans Key: 5

In the question below, the relationship between different elements is shown in the statements and these statements are followed by two
conclusions. You have to find out which of the following conclusion is/are definitely true. Mark your answer accordingly-

3 fer o as &, 799 fFfww acat F A= @y fRgraraar g T sa 5991 #9710 § a1 7 fAoad fATTw ) srawt g I17 FIAT
gt O faforfaa & & fra-a7 fsed Af3aa €78 979 §/8 | Tega AaaT ST H a3 -

Statements:



A=F,F>2Q,Q=W,W=H
Conclusions:

LA>Q

ILA>H

EREH
A=F,F=2Q,Q=W,W=H
Ao

LA>Q

ILA>H

01. Ifonly conclusion I is true. 02. Ifonly conclusion II is true.

Tz Fae fAewd 197 21 Tf Fae w1187 )

03. Ifeither conclusion I or II is true. 04. Ifneither conclusion I nor II is true.

Tt 7T T Ao 137 1197 ) Ffz T g [T T g N T B

05. Ifboth conclusions I and II are true

T2 e [ 37T [ E1 97 €
Ans Key: 1

7 Passage for Question 6, 7, 8 (ST-313RRBPOPRE(6-8R)2020)
eng hin Passage

Read the following information carefully and answer the question given below.

Suman started walking in east direction from point A. After walking 15 m he reached point B, from there he takes a left turn and walks 10 m to reach point C.
From C, he turns left and walk 7 m and reaches point D. Then, he turns left and walks 34 m to reach point E. From point E he turns right and walks 28 m. Now he
reached point F and from there he turns right and walks 40 m to reach point G. From point G he turns right and walks 32 m to reach point H.

frafafag STasRTd #1617 & v T fRg Ty TR

qua 7 g AT I fReom & =emr & #7 Z3m 15 #ex 9a ¥ a9 9g &g B 0% 9g4=T, 98i ¥ 98 a7 AT Y2aT ¢ o< 45 C & 9g= & forw 10 #iex
FAAT gl C |, 9 aT0 HaT g T 7 Hiex Foaqr g o7 &g D T% qg=ar g1 e, a8 a1 q=a71 ¢ =7 &g E 72 9g=+ & v 34 Hex aqar 21 Mg E& 7
TTT {EAT ¢ AT 28 Wiex Fal gl 9F 98 93 F U2 Ug= AT i< a8t & 9g 70 Jal ¢ o7 &g G aF ug= & fou 40 #Hrex =ear 5| f&g G & ag 310
H=dT @ o7 f&g H T 989+ % forg 32 Hiex Fear 2

Q-6 What is the direction of G with respect to A?
eng hin AT Hag | G?ﬁ'ﬁfi‘ﬂW%'?

01. North 02. East
I LC
03. Northwest 04. West
I qEH RIE-L
05. Southwest
ZferT wter
Solution for Question 6 Ans Key: 3
eng hin
32
G H
I &
D
10 10
| g j 0
24
F £ E
Q-7 What is the total distance travelled by Suman in west direction?

enghin  TFW frar & guasTTrag M Ha gh frarg?

01. 36 m/Hiex 02. 37 m/HieT



03. 35 m/fieT 04. 44 m/HieT
05. 19m/Hfiex

Solution for Question 7 Ans Key: 3
eng hin
32
G H
. :
D
10 10
40 A 3 7 B
24
F = E
Q-8 What is the direction of point C with respect to point H?
fofg H 3 = # fifg ¢ i fRem w22
01. South 02. South-west
afaror Zferor -t
03. South-east 04. North-west
05. North
3ITL
Solution for Question 8 Ans Key: 3
32
G H
v,
D
10 10
40 A 3 7 B
24
F S E

Passage for Question 9, 10, 11 (ST-313RRBPOPRE(9-11R)2020)
eng hin Passage

Study the following information to answer the given question.
Amongst five friends P, Q, R, S and T, each scored different marks in an examination out of a total of 100 marks. P scored more marks than the only R and S. T
scored less than Q. Only one person scored less than R. The one who scored second highest marks scored 70 marks.

frowrag wrITT A F foru fRwfeafaa Srasta st srsgga w3
o= ZrEdi P, Q, R, S 31T T % &1, T o U TEEAT H A 100 STt H H S-S 37 ITH 7| P Fae R & T8 3 9T 0| TH Q & FH &Y
o e UF SAfE TR A FH TR 64T T IGAH T T ATl 7 70 3 97 form

Q-9 Who scored the third least marks in the examination?

eng hin AT H ey qaw w9 st Fhae o e



01. s 02. p

03. T 04. Q
05. R
Solution for Question 9 Ans Key: 2
eng hin
70

I
Q>T>P>R>S

Q-10 Which of the following is true regarding the given information?

eng hin & T TEFHET F "oy H eforted § § #9190 82

01. Only one person scored more marks than T.02. No one scored less marks than R.

FAT TF ATH 1 T 7 ATAF 3T ThIT FFeft ¥ R & & i &2 Tal ATl
)

03. S scored more marks than P and Q. 04. Qut of five fiiends, S got 85 marks in the examination.
S T P 3T Q 7 e 3f= &hie faram) T ZrEAl § & S FH TLAT H 85 3 ITH gl

05. None is true
Solution for Question 10 Ans Key: 1
70

|
Q>T>P>R>S

Q-11 If R scored 20 marks less than the marks scored by T, which of the following could possibly be P's score?
7ty RS T 51T ITH 37hT & 20 3% 8 Th1< (AT, 97 §5ad: P T TR Metortad 3 F Sid-97 2 ThdT 22

01. 94 02. 93
03. 61 04. 89
05. 88
Solution for Question 11 Ans Key: 3
eng hin
70

I
Q>T>P>R>S

Passage for Question 12, 13, 14 (ST-313RRBPOPRE(12-14R)2020)
eng hin Passage

In each of the question below are given two or three statements, followed by two conclusions. You have to take the given statements to be true even if they seem to
be at variance from commonly known facts. Read the conclusions and then decide which of the given conclusions logically follows from the given statements
disregarding commonly known facts.

Fr=r fom 0 s Wy ® D AT A9 Fue R T E, 36 are &1 A U e 81 o R0 T e i a0F 99t 8, 9 8 F ST 7 a2t | (6
sid i gt ey 9% oie e qar &3 FF faw 1o sl & & & |1 Ay s a1 A SagedT Fed gu QU T HAT  qrehed €9 & ST
FAT B

Q-12  Statements:
enghin AllCareF.
AllF are E.
Conclusions:
I. All E being C is a possibility.
II. Some E are F.
EREH
aft C, F 3l
T F, E 8
IRLEDF
L F¥7 E % C 21 %I T SH1a1 2



ILFZE, FEl

01. TIfonly conclusion I follows. 02. TIf only conclusion II follows.
% Fae AT [ STEeor FdT 2 T2 Faer fAeHT 11 Taeor F2dT 2|
03. Ifeither conclusion I or II follows. 04. If neither conclusion I nor II follows.

Tf 7T T AR 13T 11 STEeT F:2aT g Tfe 7 7 e 1 3T 7 81 1 SAgae0T 7T gl

05. Ifboth conclusions I and II follow.
T e 1377 11 T SAqEeor F2d &

Solution for Question 12 Ans Key: 5

eng hin

Q-13  Statements:
Only a few C are D.
AllD are F.
Conclusions:
I. All F being C is a possibility.
II. All D being C is a possibility.

FA:

Fad 75 C 2 D2
gt D, F 2
IRLED

L. 7T F 3T C 24T T H97aT 2
IL ¥t D #T C g1 UF HH1ET1 5

01. TIfonly conclusion I follows. 02. Ifonly conclusion II follows.
T Faer e [ ST FdT gl TR Fae R 11 STE<T F7aT 2|
03. Ifeither conclusion I or II follows. 04. Ifneither conclusion I nor II follows.
T2 7T a1 AT 1 3T 11 S8 F:3dT g 7% T 1 o [ 377 7 &1 11 S8 F:3aT g

05. TIfboth conclusions I and 11 follow.
Tfe Ay [ 377 11 T ATE0T F3d 2
Solution for Question 13 Ans Key: 5

Q-14  Statements:
eng hin  Some Care F.
AllF are E.
NoCis A
Conclusions:
I. All F being A is a possibility.
II. Some E are C.
LR RN
FE C, F 2l
T F, E 21
FTE C, AT 21
e
L &3t F 3 A g9 T U 59197 2



ILFIE, C3l

01. Ifonly conclusion I follows. 02. Ifonly conclusion II follows.
T2 Faer AT [ STEeor FdT 2 T2 Faer AT 11 Eeor F2aT 21
03. Ifeither conclusion I or II follows. 04. If neither conclusion I nor II follows.

i 7T T AR 13T 11 STEeT F2aT gl Ffe 7 7 e 13 7 81 1 SAgae0T 7T gl

05. Ifboth conclusions I and II follow.
T Ay 1377 11 T SAqEe0r 72 &

Solution for Question 14 Ans Key: 2

©

Q-15 How many such pairs of letters are there in the word PARROT' which have as many letters between them as they have in the English alphabet?
9152 'PARROT' # S1&q<1  UH et 512 2, ok o= 7 3+ 2 srere & oy ot 37 = sr3sit aomert | 2 282

eng hin

01. THREE 02. NONE
f= EIERE
03. TWO 04. ONE
El el
05. FOUR
E1ES
Solution for Question 15 Ans Key: 3

(PR, RT)

Passage for Question 16, 17, 18, 19, 20 (ST-313RRBPOPRE(16-20R)2020)
eng hin Passage

Study the following alphabet series and answer the question given below.

frafafag auamaT feaar FTaegaa R T FRrrrrg 139

P*ALMO91(B!C)ZQ@XNS$S34R6>US810

Q-16 Which is the Sth element to the left of 10th element from the left end?
enghin T BIXH 10 5 e F a1 AT 5 A7 T F19-771 22

01. 02. L
03. 1 04. X
05. M
Solution for Question 16 Ans Key: 5

eng hin  (10- 5) = 7th left side)

Q-17 How many such symbols are there in the above series which are immediately preceded by a letter and immediately followed by a number?

eng hin ST H@AT H UH T T & o Q2 Tl U J8T 3T T0d a1 UF JeAT 82

01. Three 02. None
Gici FTE TEN
03. Two 04. One
T T
05. Four
IES

Ans Key: 1




Q-18

How many such number are there in the above series which are immediately preceded by an alphabet and immediately followed by a symbol?

enghin ST HE@AT § TH Fhaet &A1 § S+ T Tgel UF FE ST Td a1 UF T 57
01. Three 02. None
e 15 78
03. Two 04. One
il TF
05. None of these
TAH FE TGl
Ans Key: 4
Q-19 Four of the following five are alike in a certain way so form a group. Which is the one that does not belong to that group?
enghin  TeferfEa o= & & =2 v Rfera 8% & v 54 2 26 UF H4g 390 21 98 UF FA-A7 2 S IH qYE § HaATAT Tl 82
01. p*A 02. 6>U
03. ZQ@ 04. M91
05. 341
Ans Key: 5
Q-20  Complete the series based on the above series.
enghin  STUH FGATH AFTTTTHGAT HT TITF
NS$, 4R, >U, ?
01. 10 02. Qz
03. >U 04. N$
05. QN
Ans Key: 1

Passage for Question 21, 22, 23, 24, 25 (ST-31 3RRBPOPRE(21—25R)2&O)

eng hin Passage

Study the following information carefully and answer the question given below.
Twelve persons P, Q, R, S, T, U, F, G, H, 1, J and K are sitting in two parallel rows. P, Q, R, S, T and U are sitting in row-1 facing south direction and F, G, H, L, J
and K are sitting in row-2 facing north direction in such a way that each person sitting in row-1 faces the person sitting in row-2.
Only one person sits between F and H who is sitting at the extreme left end of the row. Q, who is sitting at the extreme left end, sits second to the left of P. R faces

| the one who is an immediate neighbour of F. G faces S. T, who sits at one of the extreme ends of the row, sits third to the right of the one who faces K. I faces the
one who sits second to the left P.
afa T STasT F 18I T AFITH AT RUATIT FTIACRN
g AP, Q,R, S, T, U, F, G, H, I, J 3% K &7 T\T=a gfxeai § &5 €1 P, Q, R, S, T 3T U ufxh -1 ¥ aferor fRem 7 s 9% g 3fiTF, G, H, I, J it K
I e T ST ARE -2 § 9 & 39 a<g o 1% °feh -1 § I57 T Ak 4i<h -2 | 95 FAT<h % a8 gl
F 31T HF 1= Faa UF A1 J3aT § S Uik & $Ifdq 910 S 92 937 g1 Q, AT BIX UL 9237 8, P aTS 3l1¥ AT €| R 39 AT % dTH 8 ST F FT qehreT,
TERT 81 G, S FT A 21 T, 9fRF F 30w &ie % 937 8, 39 =417 F a0 T 9w St € S K 6 a8 g1 1 ST SRR 7 9 8 ST P ¥ a7 g6 aadT

gl
Q-21  Who among the following is sitting between F and G?
enghin  FEIET § HFFF T GF = 9212
01. G 02. H
03. None 04. |
EIERE
05. None of these
TAH HHE TRl
Ans Key: 5
Q-22 Four of the following five are alike in a certain way and hence form a group. Which one of the following does not belong to the group?
enghin  FeferfEa o= # & 9 v [Rfara 8% & uF 54 2 o sqforg v 994z a91d o Refertead § & 1 97 99 ¥ qafaq T8 22

01. Q 02. 1
03. T 04. s



05. H
Ans Key: 4

Q-23  How many people are sitting to the right of H?
eng hin  H % 3% 3T free AT % &2

01. Three 02. Four
= EIES

03. Five 04. Two
q= L
05. None of these
TAH F FS TR0
Ans Key: 3

Q-24  Who is sitting second to the left of P?
enghin P aTE T AT FI I27 2

01. No one 02. Q
FE TRl
03. R 04. S

05. None of these
Ans Key: 2

Q-25 Who is sitting second to the left of J?
J % ATE Y O I 437 82

01. No one 02. F

EIERE]
03. | 04. ]

05. None of these
TAH T HE Aol
Solution for Question 25 Ans Key: 1

™R U PSS &)

Passage for Question 26, 27, 28, 29, 30 (ST-313RRBPOPRE(26-30R)2020)
eng hin Passage

Study the following information carefully and answer the question given below.

Eight persons P, Q, R, S, T, U, V and W are sitting around a circular table. Some of them like colours while some like chocolate.

The persons like chocolate facing outside the centre and the persons like colours facing inside the centre. V sits second to the right of T, who likes Green. There are
two person sit between Q and V. The persons who like chocolates, are immediate neighbour of Q. The person, who likes Yellow sits opposite to the one, who likes
Red. Q likes Pink. The one, who likes Munch sits immediate left of Q. One of the pair who likes chocolates sits opposite to each other. V does not like Kit-Kat.
The one, who likes yellow sits second to the left of the one, who likes Pink. W faces the centre, but does not like Yellow. S likes 5-star but does not sit third to the
right of the one, who likes Yellow. One of the person among all likes Dairy-Milk. W sits immediate left of P, who sits second to the left of R.

Fafafaa TTasTd &1 eamgd® Aegaa L A= fRoag g sraacd

Az =AM P,Q, R, S, T, U, V 3T W T e HT % AT AT 95 3| ITH 8 & T THE T & ST g Aldhele THE Fd gl qg S AThole THE FIA @ 13
q ATET AT AT q@ T 95 g AT a8 ST W7 THE 7 & a8 x 00 A [F F0h o9 g1 V, TF I72 AT @ Jaar e, S gz g1 Q v vE dfi=mar
=fch S5 81 5 AR &7 Aiehore THE §, T Q F A USIET 31 A =Afw, o e dr uee §, 9 e T wHE e arer & Ao a2t 81 Q Ay @t I
THT | TF, ST WA THE FAT ¢, T8 Q F XA AT I3aT gl ITH & UF SATST ST ATheA T6E FLAT 8, TH-FAL % [A940d 95 g1 'V FT fhe-Fz 785 981 g1 98
ST T [ IHE FAT 2, AT THE FIA a1 F a78 TAT 93T g1 W g il T @ e I3T &, ATohed Gl 7 TS A5l F2am gl S Fl 5-FeX 698 g
AR ST AT 37 TS 8, 36 &7 oY T A5l 937 g1 T § & U ARG Ff S7L-f0eF 764 81 W, P F TehT 910 9307 &, ST R F a7 AT T Tt
2l

Q-26 Four of the following five are alike in a certain way and hence form a group. Which one of the following does not belong to the group?

eng hin  FEferfEa o & & =2 v ST a8% & uF 99 2 o7 3qiery UF a4z a97d & Fufeted § § 3 41 998 § 69T T8 22



01. P —Kitkat 02. S-5 Star

P - e S-5® R
03. Q-Pink 04. T - Green
Q — T T-g0
05. V-Munch
V¥
Ans Key: 5
Q-27  Who amongst the following sit exactly between U and the one who like pink?
eng hin € ST TATAT THE F2AT A U F 215 A= (Aefortad § & i a1 22
01. R 02. s
03. v 04. p
05. W
Ans Key: 1
Q-28 Which of the following pairs of persons represents the immediate neighbors of T?
enghin  THTIET § ¥ 19 & S T % Tohrer TS0 7 FfaAiae F2d 82
01. SandU 02. SandP
ST U S #T P
03. Red and Green 04. Sand W
AT AT Z2T ST W
05. None of these
TAH HATS Aol
Ans Key: 4
Q-29  Whosits third to the right of S?
S % &T4 9T &I S3d1 82
0L p 02. Q
03. T 04. Vv
05. U
Ans Key: 1
Q-30  Whois third to the left of Q?
Q % =74 ET Fi 22
01. U 02. v
03. T 04. W
05. S
Solution for Question 30 Ans Key: 2
eng hin
R f““f”c”? U [YELLOW)
PINK) G _ ,,/"__-I -__'“‘“Tf,-:i
< VA
¥ N
i ,_ﬁ Jr; V (DAIRY MILK)
: |
- /
{RED}W ’x\*-«____ T ___,-f”kg S (5 5TTAR)
T (GREEN)

Passage for Question 31, 32, 33, 34, 35 (ST-313RRBPOPRE(30-35R)2020)
eng hin Passage

Study the following information carefully and answer the question given below.

Ten persons P, Q, R, S, T, U, V, W, X and Y born in different months January, February, March, April, June, July, August, September, November and December,
but not necessarily in the same order.

V borns in the month of June. T borns before V but in the month which has less than 31 days. S borns after August but in the month of 31 days. There were as




many people born between T and V as many people were born between S and Y. Three people were born between R and W but R was not born in the month of
31 days. R born after W. Two people were born between X and P. Q was born just before W. More than four people were born between X and U.

rafafag STasTd F 1 sq\ga s AeqIT F AT RuTTIT F137¢[N

T AT P,Q,R, S, T, U, V, W, X 3T Y T ST7H STT-SANT He Al § SIa, Ll {7, T, I, TS, e, e, Fe9a =i fGwgaw # gan, afte
ST AT THT FHH T

V S % Held § 97T g T, V & T2l ST @ o 39 Ae | orad 31 R § Fw R 21 S s % 912 31 AT A wE 7 d'r gem T VE A=
TS ART G=T g0 39 &1 ART S 37T Y % &1+ T7 g0 A1 R 37T W &= i 1T 98T g0 o e R FT 570 31 &A1 ater Wg = # 781 gan am R, W F 918
3T AT X Sf1¥ P 3 i 7 AT 92T g0 1 Q FT S/ W & 315 Tgel g &Ml X 3T U % i =1 & (12 &1 921 g0 41

Q-31  Who among the following was born between U and Q?
enghin  THEfIEa & ¥ &9 U it Q ¥ = far gam «m?
01. T 02. w
03. X 04. s
05. Y
Ans Key: 1
Q-32  Who was born in the month of February?
enghin  TEAL F Weld # FHEeT 70 gt 92
01. S 02. X
03. Y 04. T
05. Q
Ans Key: 4
Q-33 How many people were born between P and S?
P 3f¥ S % o= fohae T 927 U o
01. Eight 02. Seven
AS SI)
03. Four 04. Three
E1Es Skl
05. Six
B
Ans Key: 4
Q-34 Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?
FRaferiad o= § & 9 v [ ai+ & 30 70 s5aey F iy 97 UF $9 8 S 39 YH UF 99 a9d 81 98 R 97 9HE § S 39 998
Heted Tel 82
01 U 02. Q
03. p 04, v
05. X
Ans Key: 5
Q-35  Who was born in the month of September?
eng hin forqra & wEI § et Stem gat am?
01. S 02. X
03. v 04. R
05. Q
Solution for Question 35 Ans Key: 4
enghin  JANUARY/SHaRT - U

FEBRUARY/®%a<1 - T
MARCH/TTH - Q
APRIL/318<T - W
JUNE/SF - V
JULY/S[ATS - P
AUGUST/?RTET - Y
SEPTEMBER/f8de¥ - R



NOVEMBER/A4sT - X
DECEMBER/{ZHaY - S

Passage for Question 36, 37, 38, 39, 40 (ST-RRB-02(26-30R)2020)
eng hin Passage

Study the following information carefully and answer the given questions.

In a certain code language,

‘black the good burn’ is written as ‘La3 La4 Lal La2’,
‘burn are pink student’ is written as ‘La9 La4 LaS La7’,
‘black the devil burn’ is written as ‘Lal La4 La6 La2’ and
‘pink student you’ is written as ‘La5 La8 La7’.

Refed ST 7 S E® TeqaT FL 3 (20 T 77 F 39 3
u A% gz wror H,

‘black the good burn’ #T ‘La3 La4 Lal La2’, % =7 ¥ forar SITar g1
“burn are pink student’ FT ‘La9 La4 La5 La7’, % 7 # foraT srar %I
‘black the devil burn’ #T ‘Lal La4 La6 La2’ % &9 ® for@r sirar 81

‘pink student you’ T ‘La5 La8 La7’. % &9 ¥ for@T stmar %’I

Q-36  Whatis the code for “You’?
You® FT IS F4T 272

01. La5 02. La7
03. Either ‘La7’ or ‘La5’ 04. La8
JT AT La7 a7 La5
05. None of these
TAH T FIE TR1
Solution for Question 36

Black Lal/La2
Are La9

The Lal/La2

Good La3

Burn Lad

Devil La6

Studen La5/La

You Lad

Pink La5/La7

Ans Key: 4

Q-37  Which of the following is the code for ‘burn’?
enghin  FEfefEa & &4 ‘bum’ ¥ forg Fire 22

01. Las 02. Lad
03. FEither ‘La4’ or ‘La5’ 04. Lag
I7 AT 'Lad' a7 'Las'
05. None of these
TAH FHIE TRl

Solution for Question 37

Ans Key: 2

eng hin
g Black Lal/La2

Are La9%

The Lal/La2

Good La3




Burn Lad
Devil La6
Studen | La5/La7

You La8
Pink La5/La7

Q-38

eng hin

03.

01. Las

Either ‘La7’ or ‘La5’
ATV 'La7’ AT 'Las’

What is the code for ‘pink’?
'pink' 3 T #re AT 32

05. None of these
e S
Solution for Question 38 Ans Key: 3
eng hin |
Black Lal/La2
Are La%9
The Lal/La2
Good La3
Burn Lad
Devil La6
Studen La5/La
You La8§
Pink La5/La7 |
Q-39  Which of the following is the code for ‘The’?
eng hin Wﬁﬁﬁ—r{ ‘The ’%%T{Eﬁg%q
01. Lal
03. Either ‘La4’ or ‘La5’
AT AT Lad "aT° Las
05. None of these
e S
Solution for Question 39 Ans Key: 5
eng hin
Black Lal/La2
Are La9
The Lal/La2
Good La3
Burn Lad
Devil Laé
Studen | La5/La7
You La8
Pink La5/La7




Q-40 What is the code for ‘devil’?
eng hin ‘devil ' F ﬁ"‘{ FIe FAT %?

01. La6 02. TLal
03. Either Lal or La6 04. La2
IT AT Lal T La6
05. None of these
TAH HHE T4l

Solution for Question 40 Ans Key: 1

eng hin
o Black | LallLa2

Are La9

The Lal/La2

Good La3

Burn Lad

Devil La6

Studen | LaS5MLa7

You LaS

Pink La3/La7

Q-41 What will come in place of the question mark (?) in the following number series?
Aafafag gear gaar ® w5 27 (2) F =19 7TFAT ACIAT?

17, 98, 26, 89, 35,?

01. 80 02. 75
03. 60 04. 70
05. 90

Solution for Question 41 Ans Key: 1

Q-42 What will come in place of the question mark (?) in the following number series?
enghin T deaT gaard w7 2T (2) F T CCFATACIAT?

2,17, 89, 359, 1079,?

01. 2269 02. 2159
03. 2834 04. 2765
05. 2765

Solution for Question 42 Ans Key: 2

enghin 17=2x6+5
89=17x5+4
359 =89x4+3
1079 =359=3+2
?=1079x2+1 ie 7 = 2159




Q-43 What will come in place of the question mark (?) in the following number series?
enghin fAEffaa dear f@ard 77 e (2) F w977 TTFAT ATIAT?

3,5,15,45,113,?

01. 222 02. 233
03. 243 04. 281
05. 276

Solution for Question 43

enghin  s_3, (141

Q-44  What will come in place of the question mark (?) in the following number series?
enghin fAEfTETdeaT fEard 77 92 (2) F TATT TLFATATAT?

7,4.5,5.5,12,49,?

01. 303 02. 363
03. 383 04. 393
05. 432

Solution for Question 44

Q-45 What will come in place of the question mark (?) in the following number series?
Aafafag gear gaar ® g 2= (2) F =17 7TFAT ATIAT?

3240, 540, 108, 27,7, 4.5

01. ¢ 02. 7
03. 8 04. 10
05. 9

Solution for Question 45

eng hin 540= 3240
) 6

H
]08:&

Q-46 What should come in place of question mark (?) in the following question? (You do not have to calculate the exact value.)
enghin AT T @ w3 2T () F e aTFATAATATRY? GUTFT GEF ATH H1 TATHA H1 MALTHAT AR 2 1)

(f80.997 —4/25.001 | x(~/120.98 +416.02 | =7

Ans Key: 3

Ans Key: 4

Ans Key: 5



01. 60 02. 68
03. 55 04. 48
05. 45
Solution for Question 46 Ans Key: 1

enghin (41— +/25)x(V121+v16)="2
(9-3)x(11+4)="
4%15=7
7=60

Q-47 What should come in place of question mark (?) in the following question? (You do not have to calculate the exact value.)
enghin fAEFTET w7 & w3 Frea (0) F sqmA 9T FATAATATRY? (SUTHT GEF ATA HT TOAAT FIA H7 MALTFAT AR 81)

53.01-345.02+=22.99=2x(7)

01. 15 02. 19
03. 21 04. 23
05. 12
Solution for Question 47 Ans Key: 2

Q-48 What should come in place of question mark (?) in the following question? (You do not have to calculate the exact value.)
Raferfag v & v f2req () F e rTFATAATATIRTE? (GUTHT GEF AT HTTUATHR HT MILAFATARL 1)

184.002-29 +5)%29.997 =7

01. 4340 02. 2854
03. 5340 04. 5200
05. 5000
Solution for Question 48 Ans Key: 3

[184—6]%30="

178x30="7

Q-49 What should come in place of question mark (?) in the following question? (You do not have to calculate the exact value.)
Fraforfag v & w1 e () F e v FATAAT AR (GUTFT GEF AT HTTUATHIR HT MTLTRAT AL 2 1)

J(3099.985 = 62,001 + 14.001) = ?

01. 6 02. 5
03. 4 04. 8
05. 12
Solution for Question 49 Ans Key: 4

enghin  +/(3100+62+14)=?

(50 + 14) =2

V64 =2
T=8

Q-50 What should come in place of question mark (?) in the following question? (You do not have to calculate the exact value.)
enghin  fEffaa vy § w3 e (0) F wama o FAT AT ATRY? (ATHT GEF ATH HT TOAT FHIA HT MALTFAT TR 1)

(111.93x5)=14.02=11.002+7

01. 40 02. 38



03. 35 04. 25

05. 29
Solution for Question 50 Ans Key: 5
enghin 112x5+14=11+7

112x5+14=11+7

560+14 =11+7

40=11+7

7=40-11=29

Passage for Question 51, 52, 53, 54, 55 (ST-313RRBPOPRE(11-15M)2020)
eng hin Passage

Study the following graph carefully to answer the question: (The data below is given in hundreds)

THFTITLIA & (9 FAaforfad 376 &7 eamga stegga #3: (A fegrrarSserd=si # fearrarg)

The graph shows the number of bike sold from two shops.
TTF ZT FHTAT & =T TS FT2H T H&AT FT I4TdT 21

4 B
=

f Y2
=

s y

Q-51 What is the approximate average number of bikes sold by Shop B during all the days together?
1T B g AT fEA1 § UH G 91 919 qTeA T aT5Fg O [ SAqATAq Saq 4 AT F¥ATH?

01. 1867 02. 1826
03. 1838 04. 1857
05. 1860
Solution for Question 51 Ans Key: 1

eng hin  Approximate average number of bikes sold by
Shop B during all the days together

= (15+10+22+22.5+25+17.5)x 100 _ 11200
6

6
= 1866.66, approximately 1867
ST =it 7T ST3hi oh STIATG 3T Hear
ot fomT 3 weh Ty wlier
= (15+10+22+22.5+25+17.5)x 100 = 11200
6 6

= 1866.66, AT T 1867




Q-52

The number of bikes sold by Shop B on Friday is what percent of the total number of bikes sold by both Shop A and B on all the days together? (Rounded

eng hin  off to the nearest integer)
9TTT B 5TT AT &1 =1 TS AT o1 ST, 1T A ST B I 51T a1 TS T3 61 e HeAT T a1 TTaerd U a1 e fat 7 82
(s Uit aF)
01. 15% 02. 11%
03. 18% 04. 9%
05. 20%
Solution for Question 52 Ans Key: 2
eng hin  Bikes sold by Shop A on all days
=(12.5+15+22.5+20+22.5+15)x100 = 10750
Bikes sold by Shop B on all days =
(15+10+22+22.5+25+17.5)x100 = 11200
Total number of bikes sold by both Shop A and B
on all the days together = 11200 + 10750 = 21950
Number of bikes sold by Shop B on Friday= 25 x100 = 2500
Required percentage = (2500/21950)x100 = 11%
(Approx.)
Tft o 91T A 5T Sr=ft 18 aTgeRt <At wer
=(12.5+15+22.5+20+22.5+ 15) x 100 = 10750
ST B g7 @t feat F SI=fi 78 STseR! sh ST = (15+10+22+22.5+25+17.5)% 100
=11200
/9 A 3TR B 31 5T Si=i 715 aT3ehi ohl el S
Tt et 3 T |1 = 11200 + 10750 = 21950
SERAT I =TT B I sl 15 SITgehi ol €& = 25 x 100 = 2500
SATEYF TG = (2500/21950) % 100 = 11% (ST
Q-53 What is the respective ratio of the number of bikes sold by Shop A on Thursday to the number of bikes sold by Shop B on Monday?
9T A BTT ST T =1 TS ATZH 61 HEAT T HATed ST AHATE T 41T B 5T A= TS T3 61 H&aT o F47 52
01. 23 02. 34
03. 43 04. 54
05. 72
Solution for Question 53 Ans Key: 3
Number of bikes sold by Shop A on Thursday =20x 100 =2000
number of bikes sold by Shop B on Monday = 15 x100 = 1500
Required ratio = 2000 : 1500=4: 3
ST A FI AT 1 < g STgehi shi €T = 20 x 100 = 2000
HIHAT 1 979 B EIT o=l 78 1gent ol §&T = 15 x 100 = 1500
HATEIIh UG = 2000: 1500 = 4: 3
Q-54 What is the respective ratio of the total number of bikes sold on Friday to the total number of bikes sold on Thursday?
IFATT T THT TS AT 1 [ HEAT [EATE HT J41 TS AT 1 FA HEAT BT 2T ATIT FT 82
01. 13:15 02. 16:19
03. 19:15 04. 19:17
05. 17:21
Solution for Question 54 Ans Key: 4
eng hin  Total number of bikes sold on Friday = (22.5 + 25)x 100 = 4750
Total number of bikes sold on Thursday = (20 +22.5) x 100=4250
Required ratio = 4750 : 4250
=19:17
RATR 3T S T8 ST3ahi ol el T = (22.5 + 25) x 100 = 4750
TEAT 1 Sl 13 aTgehi ohl ool AT = (20 13:.5) x 100 = 4250
3TE¥Ih JUTd = 4750: 4250
=19: 17
Q-55 The total bikes sold by Shop B on all days excluding Wednesday is what percent of the total number of bikes sold on Thursday, Friday and Saturday
eng hin together?

AITT B ST JEATY &l GIShe TT (G701 # 91 T R/ dT2a [HATE, LHATE ST ATATE T TF G120 T arell aTeahi i HoT SeaT &1 haqr

Tfaerd g2



Solution for Question 55

01. 125.34%
03. 143.89%
05. 138.5%

02. 132.67%
04. 140%

Ans Key: 5

eng hin

The total bikes sold by Shop B on all days excluding Wednesday = (15 + 10 +22.5 + 25 +17.5) =90

Total number of bikes sold on Thursday, Friday and Saturday together =65

Required % = 2_0 %100 =138 5%, approximately

5

I B T HAR 1 Brght @ o1 7 =i 718 Fiet a1geh = (15 + 10 +22.5 + 25 +17.5) = 90

AT, YRR ST AT 3R Ueh w1y foreht aTeft gk T et € = 65

aqmw;rﬁma=z_2x100=13s_5%

Read the following graph carefully and answer the questions that follow:

faafarfag o #1 sama @ w8 st faeferfaa vt ¥ sacd:

Passage for Question 56, 57, 58, 59, 60, 61 (ST-313RRBPOPRE(16-20M)2020)
eng hin Passage

The data of the total students in a class in given, along with the data of those who do not take part in any activity. The ratio of students taking part in 2 different
activities is also given below.

Freft oft wfafafer & sy 7Y o ATt F TeT F Ary, U T v a0 G R AT FT 22T 2 SAFT- ST AATATEAT F T S AT FTAT 67 ST o = F2m

T 2
Classes Total Students Students not Ratio of students
Participating in any taking part in group
activities singing : quiz

IX 350 280 5:2
X 620 440 4:1
X1 205 05 3:2
XII 240 180 T3

' # AT SRS B T
IX 350 280 5:7
X 620 440 4:1
XI 205 105 3:2
XII 240 180 73

Q-56 What is the approximate average number of students who take part in the activities from classes X, XI and XII?

FEAT X, XTI ¥ XIT & Tt § qRT 9« arer Tt it STqATea S 91T #4782

01. 73
03. 78
05. 82

Solution for Question 56

02. 75
04. 80

Ans Key: 1

eng hin

Students who take part in group activities from class

IX = (280-210) = 70

X = (310-220) = 90

XII = (220 - 160) = 60
70 =-90=060

Average=_"~"""""" _ 7313 ,
3

approximately 73

ST BT HET 8 HHE T eI o 7 T & &

IX = (280-210) = 70

X = (310-220) = 90

XII = (220 - 160) = 60

st 70+90+60
3

T 73

=73.33

Q-57

eng hin

What is the ratio of the students who participated in group singing from X class to those who participated in the quiz from XI class?

X1 3 | FHE AT H AN o aTel FTAT T AqATT F47 & Sregier X1 aw 7 st § 9 foram?



01. 32 02. 21

03. 13 04. 3:4
05. None of these
TAT F FS TR
Solution for Question 57 Ans Key: 2
enghin g4 dents who participate in group singing from class X = (310-220)x i =72
Students who participate in quiz from XI class = (185-95)x 5 =36
Required Ratio = 72:36, i.e. 2:1
1 BT HeAT X & T T WO E = (310-220)x = =72
1 T e X1 W & S § = (185-95)x 2 = 36
IR S7gaTa = 2:1
Q-58 What is the difference between the number of students who take part in quiz from IX & X classes together and total students who take part in any activity
eng hin  from Class XI?
IX & X FEATa o Tt § WRT o a7er BT T 6T ST et Tl o o= ¥ 47 & S FeAt X1 & el oft wfafafer & swmr o 82
01. 68 02. 60
03. 52 04. 58
05. 62
Solution for Question 58 Ans Key: 3
Number of students who take part in quiz from IX
& X classes together = (70 :_ )+90x =20+ 18 =38
total students who take part in any activity from Class XI = 185-95 =90
Required Difference = 90 - 38 = 52
X T X & TR 3 9T o oTed ST ahl 61T = (70% 4 ) + 90x =20 + 18 = 38
Hd BT ST e X1 fereft oft mifferfer o s o 8= 1857 5 =90
FAEALIH HA =90 - 38 = 52
Q-59 The number of students who take part in quiz from IX class is what approximately percent of the total number of students who take part in group singing
sno hin ~ from X and XII class together?
IX FeqT | A | AW o a7 S0 %60 ST X 3T X1 3 % T9E TET H AW A a1l Gl 1 Fe SedT T T ha Sierd g2
01. 15% 02. 25%
03. 28% 04. 18%
05. 20%
Solution for Question 59 Ans Key: 4
eng hin . .. _ 4 7
Students who take part in group singing from X and XII together = (90x = ) + (60x __ )
3 10
=72+42=114
Students who take part in quiz from [X = 70% g =20
. 20 .
Required percent= =~ x100 = 17.54%, i.e.
114
approximately 18%
ST X S X ¥ U A §g TR 5 T o € = (90% ) + (60 ﬁ)
=72+42 =114 5
¢ ]
IX | FE H AT o a1 8= 70% 2 = 20
il
Wﬂﬁﬂﬁ:% X100 = 17.54% = 17%( HTH)
Q-60 What is total number of students who take part in quiz from all the classes together?

eng hin

AT AT F TF FTT AT AT AT FIAT 1 el ST FIT 22



01. 80 02. 72

03. 95 04. o8
05. None of these
TAH HHE TRl
Solution for Question 60 AnsKey: 5
eng hin o1 students who take part in quiz from all the classes together = (LLE LT
7 5 5 10
=20+18+36+18=92
H A S A AT O A A Fwqwr g g =002 90<1 180 180
7 " 5 10
=20+18+36+18=92
Q-61 The total number of students who do not take part in any of the activities from class XI is what percent of the total number of students who took part in any
eng hin  of the activities from class IX, X & XI?
FeAT X1 & el oft wifafafer & amr 72 o arer g i et wweat 1X, X & X1 et 7 et of fafater § wwr o arer g 6 et e &1
e wicrera 82
01. 338 02. 42
03. 46 04. 40
05. 45
Solution for Question 61 Ans Key: 1
Total students who take part in any activity from class IX, X & XI =70 + 90 + 90 = 250
Total students who do not take part in any activity from class XI= 95
Required % = ﬁ—: 100 =38
HA B S R [X, X & X1 ¥ Forelt ot aiferfarfer § wmr & € = 70 + 90 + 90 = 250
FA BT X1 T 5 forelt oft nfafafr & ymr A& @i = 95
ST SRR = 2= 100 = 38
Q-62 The ratio of the speed of two trains is 5:8. Sum of their length is 660. The ratio of time taken to cross an Electric Pole by train A and B is 4:3. What is the
difference between the lengths of two trains?
FT AT 3T T T STITT 5: 8 8| IhT AT T TRT 660 &1 37 A 3T B GTT ST TIel hl T FX H TN aTel T T STITT 4: 3 1 T &A1 ¥
TS | T AT 52
01. 58 02. 60
03. 62 04. 68
05. 72
Solution for Question 62 Ans Key: 2
Given that length of first train + length of second train = 660
Speed of first train: Speed of second train = 5:8 = 5x: 8x
Time taken to cross the poll by two trains = 4:3 = 4y:3y
Now,
(5xx4y) + (8x*x3y) = 660
44xy = 660
xy =15
L1 -L2=24xy -20xy = 4xy = 60 m
T 2 i TS + JE o T ASTS i <@ Y = 660
Tl ¢ ol T gEl o T 7Ifer = 5: 8 = 5x: 8x
BT AT | HASH YR i | T Tl 89 = 4: 3 = 4y: 3y
I,
(5x x 4y) + (8x x 3y) = 660
44xy = 660
xy =15
L1 - L2 =24xy -20xy = 4xy = 60 m
Q-63 At present, the sum of ages of 4 people is 76. After 7 years, the ratio will be 7:6:5:8. Find out the present age of C?
eng hin  FAATT H, 4 ST AT AL FT AT 76 217 a1 AT, ST 7: 6: 5: 8 TR C T AW A ST il fora?

01. 11 02. 12
03. 13 04. 18
05. 9



Solution for Question 63

eng hin

Q-64

A+B+C+D =76
According to ques , after 7 years
A+B+C+D = 7x+6x+5x+8x = 76+7*4
26x =76+ 28
X =104/26
x=4
C’s present age
=5x—T7=
20-7
=13
A+B+C+D=76
RSINICIE
A+B+C+D=7x+6x+5x+8x =76+ 7x4
26x =76 + 28
(=104
26
x=4
C i AT 3T
=5x-7
=20-7
=13

Ans Key: 3

There are four consecutive even integers. Sum of the reciprocals of the first two number is ——. Find the reciprocal of third largest number of the series.
=

ST =T qUNT &1 T&e &1 Aast & oAt F7 A0 Lo &1 e it STadt qew a8t St 1 7o 1 H 1)

05. None of these

Solution for Question 64

Q-65

eng hin

Let 4 consecutive even numbers are
X, Xt 2,xt+ 4, xt+ 6

So, the numbers will be 10,12,14,16.
Hence,
Third largest number = 14

Reciprocal of third number = i
14

AR 4 T ofi S

X, Xxt2,x+4,x+6
1 1 11

g e
x x+2 60

Ffer,

11" —98x—120 =0 gufy
e,

By £}
x=i:10
11
T ey o T = 14

e e T SR = %

Ans Key: 4

There is a three digit number. The digit at the tenth place is 3. If the place of all the digits are replaced with each other symmetrically about the tens position,
then the new number obtained is 396 more than the original three digit number. The sum of the digits at unit & hundredth place is 14. Find out the original

number?



A T T UF HEAT g TS T 9T 3F 3 g A% qlY SihT F T R UH-HL F AT ARG T F qg72 A ol F qrr qww fKEr Srar g, 9
TTH T H&AT T TN 301 61 ST & 396 SATEF | THTS AT A1 T T (H1 7 T 14| T H@AT 1T Hl o142

01. 359 02. 935
03. 953 04. 593
05. None of these
TAH H S Al
Solution for Question 65 Ans Key: 5

eng hin  Let digit=xyz
Giveny =3
According to the question =
(100z+10y+x) - (100x+10y+z) = 396x
99z-99x = 396
Z-x=4
Also, Z+x =14
Solving (i) & (ii)
Z=9,x=5
The original number is 539
3h = xyz
ﬁ'ﬂT‘TﬂTy =3
T & FFAT =(1007 + 10y + x) - (100x + 10y + 7) = 396x
99z-99x = 396
z-x =4
Z+x=14
HA: Z=9,x=5
T TEAT 539 ®

Q-66 Marked price of an article is 1600 Rs. More than the cost price. When the same article is sold at a discount of Rs. 500 then the percent profit earned is
25%. For earning a profit of
30%, the article should be sold at what price?
TF o T =T fHd a0 o7 8§ 1600 97 {8 81 ST J6T @ Hl 500 FF f e T a7 ST & a1 A AT 25% g1 30% FT ATH FHIA
o oI, @ T o Jo T2 S =1 ST AT u?

01. 5720 02. 5520
03. 5862 04. 6234

05. None of these
TAH FFIE Aol
Solution for Question 66 Ans Key: 1

Marked Price = 1600 + Cost price

MP 500 = x 122 CP

MP = > CP+ 500
4

4MP = 5CP + 2000
Solving (i) and (ii)
Cost Price = 4400
Now, the selling price
= 130 x 4400
100
=5720
FfeRd 7ed = 1600 + AN 7

125

MP -500= — x CP
100

MP =Z CP + 500

de | L

4MP = 5CP +2000
ST T = 4400
a7, ors gt = % x 4400

= 5720

Q-67 A takes 24 day in completing a work alone. Time taken by A in completing 1/3rd of the work is equal to the time taken by B in completing half of the work.
eng hin  How many days will be taken in completing the work if both A & B start working together?

AT Rt 7 7 R R | 24 RT AaT €1 AFT RT3 1/3 I FA § A q7AT T9T, B F 0 FTH AT IR FLA H 9 a1 GHT F I



21T A & B =TT T |1 T FTAT 9% F2d 2 o7 B8 T F27 & e fae i

01. 48 02. 41
4 B
03. 4g 04. 4%
7 T
05. None of these
TAH HHS TRl
Solution for Question 67 Ans Key: 2
enghin  A--—————— 24
B----omeee-- 16
N i
Q-68 A train left from station A for station B at 4pm at an average speed of 80 kmph. At 8 pm, another train also had left from station A for station B on a
eng hin  parallel track at an average
speed of 120 kmph. How far from A is another train expected to overtake the first train?
T o T A & T B 3 oI o 4 57 3frae 80 3T Wi =ie T T & YT g5 | 1T 8 9T, U 3777 o §1 ¥99 A ¥ w299 B fow s
AT & 7% 120 Foreft s = it sfa ifa & v g2 o ogett 2 7 o e % forw A & g 2 frasit g2 82
01. 750 02. 840
03. 960 04. 920
05. None of these
TAH F ATS Aol
Solution for Question 68 Ans Key: 3
Distance covered by 1st train in 4 hours = 80x4 = 320 km
Relative speed of 2nd train = 120-80 = 40 km
It will overtake another train in 320/40 = 8 hours
Distance between overtake point and station A = 8x120 = 960 km
4 S H | ¢ g q i TS gl
=80 x 4 =320 fereft
Ol ¢ sh | 1T = 120-80 = 40 fereft
T 320/40 = § TS T Ueh 17 27 W AT fehed st
A UT5E AN LI A = o s i gt
8x120 = 960 fopet
Q-69 In a business, A invested 1200 Rs more than B. B invested his amount for 15 months while A invested for 4 months more than that of B. If total profit was
i 1240 Rs in which the profit of B is 280 Rs. less than that if A. then what was the invested amount of A?
UF FAAT H, AT B 7 SATea 1200 F92 7 [Haer o621 B 7 19+t 1019 &1 15 7 & forw [Aerer B, safs AT B i g7 7 4 7=+ for
srfer fArarer foRam) It o AT 1240 07 o7, S B T 919 280 €99 A H F¥ g1 d9 A T fRaferd Trfer 1 rfora?
01. 5000 02. 5800
03. 4800 04. 6000
05. None of these
TAH HHS TRl
Solution for Question 69 Ans Key: 4
eng hin  (x+1200)x 19: 15x=19:12
x = 4800
x+1200 = 6000
Q-70 A bucket contains a mixture of two liquids A and B in the proportion 7: 5 . If 9 litres of the mixture is replaced by 9 litres of liquid B, then the ratio of the
eng hin  two liquid becomes 7: 9. How much of the liquid A was there in the bucket?
UF FTeel § 7: 5 % SIqaTd § <7 ae AT B #7 fferor g1 7f% 9 Sfrex frsqor #°v 9 <ffex qver B & &t {337 Svar &, a1 191 a¥et &7 I 7: 9 g1
SITAT g1 ATet § ToRa=T avet A =2
01. 28 02. 35
03. 42 04. 14
05. 21
Solution for Question 70 Ans Key: 5
enghin 7:5

7:9



Q-71

eng hin

4=9

16 =36

Solution of mixture A initially =21 litre
7:5

7:9

4=9

16 =36

ued figror § A i umr = 21 i

The difference between Simple Interest and Compound Interest at the rate of 12% on the same amount for 3 years is Rs. 112.32. What is the principal

amount if interest is compounded annually?

3 AT o o wa & 00 92 12% T T¥ & ATLT0T ST ST AwG 15 AT o o1 7 (¥ & 112.32| TS AT AT (6erar g, a1 g Trer A
EAIEEY

01. 2500 02. 2800
03. 2600 04. 3000

05. None of these

T ATE TET

Solution for Question 71

eng hin

Q-72

40.4928 — 36 = 4.4928
44928 =112.32

100 = 2500

Ans Key: 1

The ratio of volume of a cone to that of a cylinder if cylinder radius is reduced by 4 times and its height increased by 8 times of that of the cone, is -

U O F AT AT AT ATE et A 4 ET1 F7 ST AT 2 37T 9% F § AT a8 Jqr e, A AR € -

01. 32 02.
03. 4:5 04.
05. None of these

TAH HAE TET

Solution for Question 72

Let radius of the base and height of the cone be ‘1’
& ‘h’ respectively.

Then volume of cone = """

3
2

For cylinder, radius is reduced by 4 times ="

And, height is increased by 8 folds = 8h

Volume of cylinder= 7,27, = 7 = - (Sh
(16 .. _mr'h

=i — |fIrh=
L8} 2

Ratio of volume of cone to volume of cylinder = rh :

3
w23
1% o ST ST HaTS T BISAT H00=T: h 3T e A o

ot viep b T = 7

-

3

ém%%q,ﬁwqmwﬁw%%
3R, FaTE 8 TAT 91 STt & = 8h

Wwwzm:h:q;%; (8%)
6% ., mh
= —|TFrha=
L8) 2
A o ST & SR il SFgara = 7 L T

3 2

23

N

(O8]

o
S

Ans Key: 2



Q-73 The speed of boat when travelling downstream is 32 km/h, whereas when travelling upstream it is 28 km/h. What is the speed of the boat in still water?
eng hin &1 | AT FTd FAHA A1 1 A0 32 Tl / w2 2, St e o farodia am=m 2 @ 77 28 Ft / =t 81 faw ster & a9 it aifa s

ENIERY
01. 28 02. 32
03. 30 04. 34
05. 35

Solution for Question 73

Ans Key: 3

eng hin  Suppose the speed of boat in still water is x km/h
and speed of stream is y km/h
Speed of boat in downstream = (x + y) km/h
x+y=32...()
Speed of boat in upstream = (x — y) km/h
x—y =28 ...(i0)
Add. Egs. (i) and (ii), we get
2x =60
x =30 km/h
A ST o e siet 7 e &by wifer x fomet / Trer
SR gy it i y ot/ s
ST T A1 1 1T = (x + y) Rt/ wer
x+y=32...()
Wﬂﬁmaﬁﬂﬁ:(x-y)ﬁﬁﬁ/w
x -y =28... (ii)
2x =60
x = 30 fepet / =rer

=74 A shopkeeper mixed two verities of rice at Rs. 40/kg and Rs. 60/kg in the ratio 3: 2 and sold the mixture at 10% profit. Find the price per kg at which he
pkeer g g I price | g

sold the mixture?

TF THART A 40 F/FIT 31T 60 /[T % &7 T F A1 1 3:2 % SAqIq H (WA iz 7 F¥ 10% A1 72 =1 9 Brem 7 47 1

Frfore o o7 38 fsor a=m?
01. 48.5 02. 46.8
03. 48.8 04. 528

05. None of these
ED T Eﬁré Fl%lf
Solution for Question 74

Ans Key: 4

Q-75 A boat running upstream takes 8 hours 48 minutes to cover a certain distance, while it takes 4 hours to cover the same distance running downstream. What

1s the ratio between the speed of the boat and speed of the water current respectively?

T 19 HT &1 & [0 TF AT g0 a9 37 | 8 °e 48 e T 997 O[T g, et &1 F arF Fo § 9 G0 Fl 7T T § 4 5 T 5

FHL: AT AT AT 7T T F TaTg ¥ A F 7= A7 I #4782

01. 5.7 02. 3:8
03. 83 04. 75
05. None of these

TAH q FIS Tl

Solution for Question 75

Ans Key: 3

eng hin a 44

e

X+ ¥
So,3d: x:iy = 8:3

Q-76 Find the value of variables and state the correct relationship.

enghin =X FTATT ATT FIFR TAT TEY qeaeg Tviva Fford |

(I) 8x+14y =438
(II) 6x-7y=-21



01. x> y 02. x > y
03. x< y 04. x < y
05. x=y or relationship cannot be established

x=y AT qFa TATTOT A&l AT ST qha T
Solution for Question 76

Ans Key: 1

eng hin  4x+7y =219
6x-7Ty=-21
10 x =240
x=24 , y= 123/7
>y

Q-77  Find the value of variables and state the correct relationship.
enghin T FTHTA ATT HIR TAT AT G¥aeg TTHAQT FITIT |

(1) 26x> =64x-24
(D) 6y*-11y = -4

01. x>y 02. xEy
03. x<y 04, xSy

0S. x=y or relationship cannot be established
x=y AT T TATUT Tl ShaT ST Fha

Solution for Question 77

13x%-32x +12=0
X=2, 6/13
6y2-11y +4=0
y=4/3, 12
CN.D.

Q-78 Find the value of variables and state the correct relationship.
T AT AT TTT HIMT TAT TG qrareey TTHUT FIH5031

(@ 5x2+19x+12 =0
(IT) 4y? - 18y + 18=0

01. X>y 02. Xzy
03. X<y 04. xgy

05. x=y or relationship cannot be established

=y AT T EATUT T (6T ST HFHAT
Solution for Question 78
5x2+19x+12 =0 4y - 18y + 18=0

x=-3, -4/5 y=3, 3/2
X<y

Ans Key: 5

Ans Key: 3

Q-79 Find the value of variables and state the correct relationship.
enghin T FTATT ATT FIFY AT TEY Tearegy Tvia fford |

)] X2+x—6=0
(II) y>+9y+20=0

01. x>y 02. xzy
03. x<y 04. xSy

05. x=y or relationship cannot be established
x=y IAT FHIwE TATCAT Al (AT ST HHAT
Solution for Question 79

Ans Key: 1

enghin x=> 3
Y=+4,-5

Q-80  Find the value of variables and state the correct relationship.

enghin 1 T AT ST AT TAT Hal F¥aee 1A Hiford |



D 2 =324

D 3* =-5850
01 x>y 02. x>y
03. x<y 04. x<y
0S. x=y or relationship cannot be established
x=y IT Tl TATIOT AT FohaT ST &afaT
Solution for Question 80 Ans Key: 1

enghin x=18,-18
y=18.st
X>y




